

## A NEW CLASS OF GENERALIZED POLYNOMIALS ASSOCIATED WITH HERMITE-BERNOULLI POLYNOMIALS

MOULOUD GOUBI

**ABSTRACT.** In this paper, we introduce and investigate a new class of generalized polynomials associated with Hermite-Bernoulli polynomials of higher order. This generalization is a unification formula of Bernoulli numbers, Bernoulli polynomials, Hermite-Bernoulli polynomials of Dattoli, generalized Hermite-Bernoulli polynomials for two variables of order  $\alpha$  and new other families of polynomials depending on any generating function  $f$ .

AMS Mathematics Subject Classification : 33C45, 33C99.

*Key words and phrases* : Hermite polynomials, Bernoulli polynomials, Hermite-Bernoulli polynomials.

### 1. Introduction

The Hermite polynomials  $H_n(x)$  (see [1]) are defined by

$$H_n(x) = n! \sum_{r=0}^{\lfloor \frac{n}{2} \rfloor} \frac{(-1)^r (2x)^{n-2r}}{r!(n-2r)!}. \quad (1)$$

We recall that the two variables Hermite Kampé de Fériet polynomials  $H_n(x, y)$  (see [2]) sometimes called the higher order Hermite polynomials (see [10]) are given by

$$H_n(x, y) = n! \sum_{r=0}^{\lfloor \frac{n}{2} \rfloor} \frac{y^r x^{n-2r}}{r!(n-2r)!} \quad (2)$$

and generated by the function

$$e^{xt+yt^2} = \sum_{n \geq 0} H_n(x, y) \frac{t^n}{n!}. \quad (3)$$

C.S. Ryoo (see [14]) studied differential equations arising from the generating function (3) and gave explicit identities for these polynomials. According to the

identities (1) and (2); the polynomials  $H_n(x)$  and  $H_n(x, y)$  are connected by the following relationship

$$H_n(2x, -1) = H_n(x).$$

For all real number  $c > 0$ ,  $H_n(x, y)$  can be extended naturally to polynomials  $H_n(x, y; c)$  by considering the generating function

$$c^{xt+yt^2} = \sum_{n \geq 0} H_n(x, y, c) \frac{t^n}{n!}.$$

One remarks that

$$H_n(x, y; c) = H_n(x \ln c, y \ln c).$$

And for  $x = 0$  one obtains

$$c^{yt^2} = \sum_{n \geq 0} (\ln c)^n y^n \frac{t^{2n}}{n!}.$$

Furthermore

$$H_n(0, y; c) = \begin{cases} \frac{(2k)!}{k!} (\ln c)^k y^k, & \text{if } n = 2k, \\ 0, & \text{otherwise.} \end{cases} \quad (4)$$

It is well-known that the generalized Bernoulli polynomials  $B_n^{(\alpha)}(x)$  of order  $\alpha \in \mathbb{C} \setminus \{0\}$  are defined by the generating function

$$\left( \frac{t}{e^t - 1} \right)^\alpha e^{xt} = \sum_{n \geq 0} B_n^{(\alpha)}(x) \frac{t^n}{n!}. \quad (5)$$

The generalized Hermite-Bernoulli polynomials  ${}_H B_n^{(\alpha)}(x, y)$  for two variables of order  $\alpha$  which were introduced and investigated by Pathan [12], are given by

$$\left( \frac{t}{e^t - 1} \right)^\alpha e^{xt+yt^2} = \sum_{n \geq 0} {}_H B_n^{(\alpha)}(x, y) \frac{t^n}{n!}. \quad (6)$$

These polynomials are a generalization of Bernoulli numbers, Bernoulli polynomials, Hermite polynomials and Hermite-Bernoulli polynomials introduced and studied by Dattoli and al. [4]; which are given by the generating function

$$\left( \frac{t}{e^t - 1} \right) e^{xt+yt^2} = \sum_{n \geq 0} {}_H B_n(x, y) \frac{t^n}{n!} \quad (7)$$

different of degenerate Hermite-Bernoulli polynomials studied by H. Haroon and A. K. Waseem (see [9]), and Hermite-Bernoulli Polynomials attached to a Dirichlet character studied by A. Serkan and al. in [15].

Otherwise let the generating function  $f(t) = \sum_{n \geq 0} b_n \frac{t^n}{n!}$ , with  $f(0) = b_0 \neq 0$ . Then  $F(t) = \frac{t}{f(t) - b_0}$  is a generating function too and generates numbers  $B_n^{(f)}$

i.e,

$$F(t) = \sum_{n \geq 0} B_n^{(f)} \frac{t^n}{n!}. \quad (8)$$

But we have

$$(f(t) - b_0) F(t) = t$$

and then by using the Cauchy product (for more details about this product we refer to [7]) we conclude that  $B_0^{(f)} = b_1^{-1}$  and

$$\sum_{k=0}^{n-1} \binom{n}{k} b_{n-k} B_k^{(f)} = 0, \quad n \geq 2. \quad (9)$$

For  $b_0 = 1$ ;  $-F(t)/t$  can be seen as a special case of the notion of generating function of the function  $f$  ( $x = 1$  and  $|f(t)| < 1$ ) introduced in Definition 3.1 and Example 3.1 of our recent work [8]. Since  $B_0^{(f)} \neq 0$ ;  $F^\alpha(t)$  is a generating function too, and generates numbers  $B_n^{(f,\alpha)}$ . Then we have

$$\left( \frac{t}{f(t) - b_0} \right)^\alpha = \sum_{n \geq 0} B_n^{(f,\alpha)} \frac{t^n}{n!}.$$

We did everything to introduce a new generalization of Hermite-Bernoulli polynomials and other related polynomials.

**Definition 1.1.** The generalized Hermite-Bernoulli polynomials  ${}_H B_n^{(f,\alpha)}(x, y; c)$  depending on real number  $c > 0$  and the function  $f$  are given in means of the generating function

$$\left( \frac{t}{f(t) - b_0} \right)^\alpha c^{xt+yt^2} = \sum_{n \geq 0} {}_H B_n^{(f,\alpha)}(x, y; c) \frac{t^n}{n!}. \quad (10)$$

The family of polynomials  ${}_H B_n^{(f,\alpha)}(x, y; c)$  includes the family of generalized Bernoulli polynomials introduced by Pathan and Khan (see [13, Definition 2.2 p.56]) which are defined in means of generating function

$$\left( \frac{t}{a^t - b^t} \right)^\alpha c^{xt+yt^2} = \sum_{n \geq 0} B_n^{(\alpha)}(x, y; a, b, c) \frac{t^n}{n!}, \quad a \neq b, c > 0$$

just taking  $f(t) = a^t - b^t + 1$ .

In this work, we give the explicit formula of  ${}_H B_n^{(f,\alpha)}(x, y; c)$  and apply the result to some special case of the function  $f$ . Which goes alone to obtain an improvement of [13, Theorem 2.7, p. 57] and other important results.

## 2. Main results

For any complex number  $\alpha$  the extended binomial coefficient is given by

$$\binom{\alpha}{k} = \frac{(\alpha)_k}{k!}, \text{ with } (\alpha)_k = \alpha(\alpha-1)\cdots(\alpha-k+1).$$

If  $\alpha \in \mathbb{N}$  we obtain the standard binomial coefficient

$$\binom{\alpha}{k} = \begin{cases} \frac{\alpha!}{k!(\alpha-k)!}, & \text{if } k \leq \alpha, \\ 0, & \text{otherwise.} \end{cases}$$

And the multinomial coefficients of order  $n$  are defined by

$$\binom{k}{k_1 \cdots k_n} = \frac{k!}{k_1! \cdots k_n!}$$

where  $k_1 + \cdots + k_n = k$ . Which is identical with binomial coefficient for  $n = 2$ .

**Theorem 2.1.** *Let  $\alpha \in \mathbb{C} \setminus \{0\}$  and the set*

$$\pi_n(k) = \{(k_1, \dots, k_n) \in \mathbb{N}^n \mid k_1 + \cdots + k_n = k, k_1 + 2k_2 + \cdots + nk_n = n\}$$

*then we have*

$$\begin{aligned} & \frac{{}_H B_n^{(f, \alpha)}(x, y; c)}{n!} \\ &= \sum_{k=0}^n \sum_{(k_1, \dots, k_n) \in \pi_n(k)} \binom{-\alpha}{k} \binom{k}{k_1 \cdots k_n} b_1^{-\alpha-k} \\ & \quad \times \prod_{i=1}^n \left( \sum_{j=0}^i \frac{b_{j+1} H_{i-j} \left( -\frac{x \ln c}{\alpha}, -\frac{y \ln c}{\alpha} \right)}{(j+1)!(i-j)!} \right)^{k_i}. \end{aligned} \quad (11)$$

**Corollary 2.2.**

$$\frac{B_n^{(f, \alpha)}}{n!} = \sum_{k=0}^n \sum_{(k_1, \dots, k_n) \in \pi_n(k)} \binom{-\alpha}{k} \binom{k}{k_1 \cdots k_n} b_1^{-\alpha-k} \prod_{i=1}^n \left( \frac{b_{i+1}}{(i+1)!} \right)^{k_i}. \quad (12)$$

$$\frac{B_n^{(f)}}{n!} = \sum_{k=0}^n \sum_{(k_1, \dots, k_n) \in \pi_n(k)} (-1)^k \binom{k}{k_1 \cdots k_n} b_1^{-1-k} \prod_{i=1}^n \left( \frac{b_{i+1}}{(i+1)!} \right)^{k_i}. \quad (13)$$

**2.1. Proof of main results.** Let  $h(t) = \sum_{n \geq 0} a_n t^n$  be a generating function with  $a_0 \neq 0$ . Then  $h^\alpha(t)$  is a generating function too. Denoting  $h^\Delta(n, \alpha)$  (see [11]) the numbers generated by  $h^\alpha(t)$  then their explicit formula is given by the following lemma.

**Lemma 2.3.** *We have  $h^\Delta(0, \alpha) = a_0^\alpha$  and*

$$h^\Delta(n, \alpha) = \sum_{k=0}^n \sum_{(k_1, \dots, k_n) \in \pi_n(k)} \binom{\alpha}{k} \binom{k}{k_1 \cdots k_n} a_1^{k_1} \cdots a_n^{k_n} a_0^{\alpha-k}, \quad n \geq 1. \quad (14)$$

*Proof.* We consider the auxiliary function  $g(t) = t^\alpha$  then  $g \circ h(t) = h^\alpha(t)$  is a generating function. Since

$$h^\alpha(t) = \sum_{n \geq 0} h^\Delta(n, \alpha) t^n$$

we deduce that

$$\frac{d^n h^\alpha(t)}{dt^n} \Big|_{t=0} = h^\Delta(n, \alpha) n!.$$

But from the Faà di Bruno formula (see [5]) we have  $(g \circ h)^{(0)}(t) = g \circ h(t)$  and

$$\begin{aligned} & (g \circ h)^{(n)}(t) \\ &= \sum_{k=0}^n \sum_{(k_1, \dots, k_n) \in \pi_n(k)} \frac{n!}{k_1! \dots k_n!} \left( g^{(k)} \circ h(t) \right) \prod_{i=1}^n \left( \frac{h^{(i)}(t)}{i!} \right)^{k_i}, \quad n \geq 1. \end{aligned}$$

Furthermore

$$\begin{aligned} & (g \circ h)^{(n)}(t) \\ &= \sum_{k=0}^n \sum_{(k_1, \dots, k_n) \in \pi_n(k)} \frac{n!}{k_1! \dots k_n!} (\alpha)_k h^{\alpha-k}(t) \prod_{i=1}^n \left( \frac{h^{(i)}(t)}{i!} \right)^{k_i}, \quad n \geq 1. \end{aligned}$$

which means that

$$(g \circ h)^{(n)} \Big|_{t=0} = \sum_{k=0}^n \sum_{(k_1, \dots, k_n) \in \pi_n(k)} \frac{n!}{k_1! \dots k_n!} (\alpha)_k a_0^{\alpha-k} \prod_{i=1}^n a_i^{k_i}, \quad n \geq 1.$$

Finally  $h^\Delta(0, \alpha) = (g \circ h)^{(0)}(0) = a_0^\alpha$  and

$$h^\Delta(n, \alpha) = \sum_{k=0}^n \frac{1}{k!} \sum_{(k_1, \dots, k_n) \in \pi_n(k)} \binom{k}{k_1 \dots k_n} (\alpha)_k a_0^{\alpha-k} a_1^{k_1} \dots a_n^{k_n}, \quad n \geq 1.$$

□

**2.2. Proof of Theorem.2.1.** For  $\alpha \in \mathbb{C} \setminus \{0\}$  we have

$$\left( \frac{t}{f(t) - b_0} \right)^\alpha e^{xt+yt^2} = \left( \frac{f(t) - b_0}{t} e^{-\frac{x \ln c}{\alpha} t - \frac{y \ln c}{\alpha} t^2} \right)^{-\alpha}.$$

But

$$\frac{f(t) - b_0}{t} = \sum_{n \geq 0} b_{n+1} \frac{t^n}{(n+1)!}$$

and

$$e^{-\frac{x \ln c}{\alpha} t - \frac{y \ln c}{\alpha} t^2} = \sum_{n \geq 0} H_n \left( -\frac{x \ln c}{\alpha}, -\frac{y \ln c}{\alpha} \right) \frac{t^n}{n!}.$$

The Cauchy product of the last two functions conducts to

$$\frac{f(t) - b_0}{t} e^{-\frac{x \ln c}{\alpha} t - \frac{y \ln c}{\alpha} t^2} = \sum_{n \geq 0} \sum_{k=0}^n \frac{b_{k+1} H_{n-k} \left( -\frac{x \ln c}{\alpha}, -\frac{y \ln c}{\alpha} \right)}{(k+1)!(n-k)!} t^n.$$

Let us  $h(t) = \frac{f(t)-b_0}{t} e^{-\frac{x \ln c}{\alpha} t - \frac{y \ln c}{\alpha} t^2}$ , then we remark that  $a_0 = b_1 \neq 0$  and for  $n \geq 1$ ,

$$a_n = \sum_{k=0}^n \frac{b_{k+1} H_{n-k} \left( -\frac{x \ln c}{\alpha}, -\frac{y \ln c}{\alpha} \right)}{(k+1)(n-k)!}.$$

Substituting these values in the identity (14) Lemma 2.3 we obtain the identity (11) Theorem 2.1.

**2.3. Proof of Corollary 2.2.** One takes  $x = y = 0$  in the identity (11) Theorem 2.1 to deduce the identity (12) Corollary 2.2.

For the second identity (16) Corollary 2.2 we take  $x = y = 0$  and  $\alpha = 1$  in the identity (11) Theorem 2.1 and we use the fact that  $\binom{-1}{k} = (-1)^k$  to conclude.

### 3. Applications

**3.1. Exponential function.** In the special case  $f(t) = e^t$  and  $c = e$ , the sequence  $b_n$  is constant and equal 1. We have already proved the following formula for generalized Hermite-Bernoulli polynomials (the proof is left as an exercise).

**Theorem 3.1.**

$$\begin{aligned} & \frac{{}_H B_n^{(\alpha)}(x, y)}{n!} \\ &= \sum_{k=0}^n \sum_{(k_1, \dots, k_n) \in \pi_n(k)} \binom{-\alpha}{k} \binom{k}{k_1 \dots k_n} \prod_{i=1}^n \left( \sum_{j=0}^i \frac{H_{i-j} \left( -\frac{x}{\alpha}, -\frac{y}{\alpha} \right)}{(j+1)!(i-j)!} \right)^{k_i}. \end{aligned} \quad (15)$$

This identity conducts directly to explicit formula of well-known Bernoulli numbers  $B_n^\alpha$  and  $B_n$ .

**Corollary 3.2.**

$$\frac{B_n^{(\alpha)}}{n!} = \sum_{k=0}^n \sum_{(k_1, \dots, k_n) \in \pi_n(k)} \binom{-\alpha}{k} \binom{k}{k_1 \dots k_n} \prod_{i=1}^n \left( \frac{1}{(i+1)!} \right)^{k_i}. \quad (16)$$

$$\frac{B_n}{n!} = \sum_{k=0}^n \sum_{(k_1, \dots, k_n) \in \pi_n(k)} (-1)^k \binom{k}{k_1 \dots k_n} \prod_{i=1}^n \left( \frac{1}{(i+1)!} \right)^{k_i}. \quad (17)$$

The proof consists to take  $x = y = 0$  and remark that  $H_{i-j}(0, 0) = 1$  for  $j = i$  and zero otherwise. The identity (17) is an advanced expression of  $B_n$  which help us to compute directly the Bernoulli numbers without using the well-known recurrence formula of these numbers.

**3.2. Geometric function.** We consider for example the generating function

$$f(t) = \frac{1}{1-t} = \sum_{n \geq 0} t^n, \quad |t| < 1$$

then  $f(t) - 1 = \frac{t}{1-t}$  furthermore  $\frac{t}{f(t)-1} = 1-t$  which means that  $B_0^{(f)} = 1$ ,  $B_1^{(f)} = -1$  and  $B_n^{(f)} = 0$  for  $n \geq 1$ . In means of the identity (14) Lemma 2.3 we conclude that

$$\left( \frac{t}{f(t)-1} \right)^\alpha = (1-t)^\alpha = \sum_{n \geq 0} \binom{\alpha}{n} (-1)^n t^n.$$

Furthermore by using Cauchy product [7, 6] we obtain

$$\left( \frac{t}{f(t)-1} \right)^\alpha c^{xt+yt^2} = \sum_{n \geq 0} \sum_{k=0}^n \binom{\alpha}{k} (-1)^k H_{n-k}(x \ln c, y \ln c) t^n$$

and then

$$\frac{{}_H B_n^{(f, \alpha)}(x, y; c)}{n!} = \sum_{k=0}^n \binom{\alpha}{k} (-1)^k H_{n-k}(x \ln c, y \ln c).$$

According to the identity (11) Theorem 2.1, we have already proved the following theorem.

**Theorem 3.3.**

$$\begin{aligned} & \sum_{k=0}^n \binom{\alpha}{k} (-1)^k H_{n-k}(x \ln c, y \ln c) \\ &= \sum_{k=0}^n \sum_{(k_1, \dots, k_n) \in \pi_n(k)} \binom{-\alpha}{k} \binom{k}{k_1 \dots k_n} \\ & \quad \times \prod_{i=1}^n \left( \sum_{j=0}^i \frac{H_{i-j} \left( -\frac{x \ln c}{\alpha}, -\frac{y \ln c}{\alpha} \right)}{(i-j)!} \right)^{k_i}. \end{aligned} \quad (18)$$

Furthermore for  $c = e$  we obtain the following result

**Corollary 3.4.**

$$\begin{aligned} & \sum_{k=0}^n \sum_{(k_1, \dots, k_n) \in \pi_n(k)} \binom{-\alpha}{k} \binom{k}{k_1 \dots k_n} \prod_{i=1}^n \left( \sum_{j=0}^i \frac{H_{i-j} \left( -\frac{x}{\alpha}, -\frac{y}{\alpha} \right)}{(i-j)!} \right)^{k_i} \\ &= \sum_{k=0}^n \binom{\alpha}{k} (-1)^k H_{n-k}(x, y). \end{aligned} \quad (19)$$

and if  $x = y = 0$  we get

**Corollary 3.5.**

$$\binom{\alpha}{n} = (-1)^n \sum_{k=0}^n \sum_{(k_1, \dots, k_n) \in \pi_n(k)} \binom{-\alpha}{k} \binom{k}{k_1 \dots k_n}. \quad (20)$$

This identity shows that  $\binom{\alpha}{k}$  is a linear combination of numbers  $\binom{-\alpha}{k}$  for  $1 \leq k \leq n$ . And gives for example  $\binom{-1}{n} = (-1)^n$ . Furthermore if  $n \geq 2$  we obtain the identity

$$\sum_{k=0}^n (-1)^k \left( \sum_{(k_1, \dots, k_n) \in \pi_n(k)} \binom{k}{k_1 \dots k_n} \right) = 0.$$

#### 4. Generalized Bernoulli polynomials

The generalized Bernoulli polynomials  $B_n^{(\alpha)}(x, y; a, b, c)$  introduced by MA. Pathan and WA. Khan (see [13]) admit the following explicit formula

**Theorem 4.1.**

$$\begin{aligned} & \frac{B_n^{(\alpha)}(x, y; a, b, c)}{n!} \\ &= \sum_{k=0}^n \sum_{(k_1, \dots, k_n) \in \pi_n(k)} \binom{-\alpha}{k} \binom{k}{k_1 \dots k_n} \left( \ln \frac{a}{b} \right)^{-\alpha-k} \\ & \quad \times \prod_{i=1}^n \left( \sum_{j=0}^i \frac{((\ln a)^{j+1} - (\ln b)^{j+1}) H_{i-j} \left( -\frac{x \ln c}{\alpha}, -\frac{y \ln c}{\alpha} \right)}{(j+1)!(i-j)!} \right)^{k_i}. \end{aligned} \quad (21)$$

*Proof.* To get the proof, just take  $f(t) = a^t - b^t + 1$  and then

$$f(t) = 1 + \sum_{n \geq 1} ((\ln a)^n - (\ln b)^n) \frac{t^n}{n!}$$

thus  $b_0 = 1$  and  $b_n = (\ln a)^n - (\ln b)^n$  for  $n \geq 0$ . Furthermore  $B_n^{(\alpha)}(x, y; a, b, c) = B_n^{(f, \alpha)}(x, y; c)$ .  $\square$

We have

$$\begin{aligned} & \sum_{j=0}^i \frac{((\ln a)^{j+1} - (\ln b)^{j+1}) H_{i-j} \left( -\frac{x \ln c}{\alpha}, -\frac{y \ln c}{\alpha} \right)}{(j+1)!(i-j)!} \\ &= \sum_{j=0}^i \frac{((\ln a)^{i-j+1} - (\ln b)^{i-j+1}) H_j \left( -\frac{x \ln c}{\alpha}, -\frac{y \ln c}{\alpha} \right)}{(i-j+1)!j!} \end{aligned}$$



, then as a consequence of the identity (21) Theorem 4.1 and the expression (4) of  $H_n(0, y; c)$  we obtain

$$\begin{aligned} & \frac{B_n^{(\alpha)}(0, y; a, b, c)}{n!} \\ &= \sum_{k=0}^n \sum_{(k_1, \dots, k_n) \in \pi_n(k)} \binom{-\alpha}{k} \binom{k}{k_1 \dots k_n} \left(\ln \frac{a}{b}\right)^{-\alpha-k} \\ & \quad \times \prod_{i=1}^n \left( \sum_{j=0}^{\lfloor \frac{i}{2} \rfloor} \frac{((\ln a)^{i-2j+1} - (\ln b)^{i-2j+1}) (\ln c)^j (-y)^j}{(i-2j+1)! j! \alpha^j} \right)^{k_i}. \end{aligned}$$

which is an improvement of the identity

$$B_n^{(\alpha)}(0, y; a, b, c) = \sum_{k=0}^{\lfloor \frac{n}{2} \rfloor} \frac{n!}{k!(n-2k)!} (\ln c)^k B_{n-2k}^{(\alpha)}(a, b) y^k$$

showed in the work [13].

## 5. Conclusion

In this work we introduced a new family of polynomials attached to a any generating function  $f$  not vanishing on zero. This family is a unification formula of Bernoulli numbers, Bernoulli polynomials, Hermite-Bernoulli polynomials, generalized Hermite-Bernoulli polynomials for two variables of higher order.

In section 2, we studied the family  ${}_H B_n^{(f, \alpha)}(x, y; c)$  and stated its explicit formula (Theorem 2.1). Furthermore explicit formula for numbers  $B_n^{(f, \alpha)}$  and  $B_n^{(f)}$  are deduced (Corollary 2.2).

In section 3 we apply this result to some special cases in order to give a closed formula for the polynomials  ${}_H B_n^{(\alpha)}(x, y)$ . Which goes alone to give a new reformulation of Bernoulli numbers  $B_n$  without using their recurrence formula (Corollary 3.2); based on a special partition of the number  $n$ .

Finally, in the last section we revisit polynomials  $B_n^{(\alpha)}(x, y; a, b, c)$  introduced by MA. Pathan and WA. Khan and get their explicit formula; which includes an improvement of [13, Theorem 2.7, p.57].

## REFERENCES

1. L.C. Andrews, *Special functions for engineers and mathematicians*, Macmillan Co., New York, 1985.
2. P. Appell, J. Kampé de Fériet, *Fonctions Hypergéométriques et Hypersphériques: Polynômes d'Hermite*, Gauthier-Villars: Paris, France, 1926.
3. E.T. Bell, *Exponential polynomials*, Ann. Math. **35** (1934), 258-277.

4. G. Dattoli, S. Lorenzutta and C. Cesarano, *Finite sums and generalized forms of Bernoulli polynomials*, Rendiconti di Matematica **19** (1999), 385-391.
5. F. di Bruno, *Traité Élémentaire du Calcul*, Gauthier-Villars, Paris, 1869.
6. M. Goubi, *On the Recursion Formula of Polynomials Generated by Rational Functions*, Inter. Journ. Math. Analysis **13** (2019), 29-38.
7. M. Goubi, *Successive derivatives of Fibonacci type polynomials of higher order in two variables*, Filomat **32** (2018), 5149-5159.
8. M. Goubi, *An affirmative answer to two questions concerning special case of Simsek numbers and open problems*, Appl. Anal. Discrete Math. **14** (2020), 94-105.
9. H. Haroon and A.K. Waseem, *Degenerate Bernoulli numbers and polynomials associated with degenerate Hermite polynomials*, Commun. Korean Math. Soc. **33** (2018), 651-669.
10. N.U. Khan and T. Usman, *Certain generating functions of Hermite-Bernoulli-Legendre polynomials*, Ufmsk. Mat. Zh. **10** (2018), 118-126.
11. D.V. Kruchinin, Y.V. Shablya, V.V. Kruchinin and A.A. Shelupanov, *Properties of a Composition of Exponential and Ordinary Generating Functions*, Comm. Math. and Appl. **9** (2018), 705-711.
12. M.A. Pathan, *A new class of generalized Hermite-Bernoulli polynomials*, Georgian Math. J. **19** (2012), 559-573.
13. M.A. Pathan, W.A. Khan, *A new class of generalized polynomials associated with Hermite and Bernoulli polynomials*, Le Matematiche **70** (2015), 53-70.
14. C.S. Ryoo, *Some Identities Involving Hermite Kampé de Fériet Polynomials Arising from Differential Equations and Location of Their Zeros*, Mathematics **7** (2019), <https://doi.org/10.3390/math7010023>.
15. A. Serkan, A.K. Waseem and S.N. Kottakkaran, *Symmetric Identities of Hermite-Bernoulli Polynomials and Hermite-Bernoulli Numbers Attached to a Dirichlet Character  $\chi$* , Symmetry **10** (2018), doi:10.3390/sym10120675.

**Mouloud Goubi** received M.Sc. (2001) from USTHB University Algiers and Ph.D. (2016) at the same University. Since 2002 he has been at Mentouri University and after 2006 at UMMTO University. His research interests include Riemann zeta function, Dedekind sums and generating functions.

Department of Mathematics, Faculty of Sciences, UMMTO University, Tizi-Ouzou 15000, Algeria.

Laboratory of Algebra and Number Theory USTHB Algiers.

e-mail: mouloud.goubi@ummto.dz